


(7− 4)(4− 2) = 3× 2 = 6

m n m − n



1/4 1/3 1/2 1/1 1/0 1/−1

1/− 2 1/− 3 1/9 1/4 1/1

1/0 1/1 1/4 1/9 4 0 0

−1 : 1 = 1 : −1

0

x+1 = 3 x = 3− 1 = 2

x + 3 = 1 x = 1 − 3 = −2 x + a = b x = b − a
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(b− a)(c−
a)(df + aa) !

0

(b − a)(c − a)(df + aa) = 0 a = b a = c aa = −df

a =
√
−df aa = −df



aaaa− 6aa+ 136a = 1155

−−−−−−−

aaaa− 2aa+ 1 = 4aa− 136a+ 1156

a4 − 6a2 + 136a = 1155

±

aa− 1 = 3a− 34

33 = 2a− aa

aa− 2a = −33

aa− 2a+ 1 = 1− 33

a− 1 =
√

− 32

a = 1 +
√

− 32

a = 1−
√

− 32

−−−−−−−−



x3 − 8x2 + 16x = 40

1C − 8Q+ 16N 40.

aaa− 8aa+ 16a = 40.

x3
∗ − 8x2

∗
+ 16x 40



x3
∗
x4

∗

x3 x4 xx

x3 − (u+ v + w)x2 + (uv + vw + wv)x− uvw = 0

u v w

a b c

(x − a)(x − b)(x − c) = 0

0

x2 = b

x2 + ax = b

x2 − ax = b

ax− x2 = b
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